HEET AR (419)

BEATONEEYEENR s ] D o

AR tERELR HEERER ER - £EHT

HEEDHERE. S EOEENBAT IRHAICHEIURVY—EXDMIEFEHRE L-YIED
EHERRIMICAET 2HNDTY ., BRIBFERFBROCEFEDOHELEICHASNATNET,

1. 8%
[%1] 1% FA2TE (2015%) = 100
HEEWMEY | MERAL (%) SR [%]
we 100. 7 -1.0 -0.1
EBHBRERIRE 101.0 -1.0 0.0
ERBERRUIRLE—ERBE 101. 1 ~0.6 0.0

OfsaHEHuE. 100.7 (AIFERIAL -1.0%. ATAL -0.1%) &f4ot=,
OAHMBHAZHRCKBEERIEL. 101.0 (R -1.0%. [ 0.0%) &GEo71=,
OfEBEmRUIRIILF—ZRBERERE. 101.1 (A -0.6%. [ 0.0%) &7%of=,

(X1-1] HEEYMER RS
—l—BEEH - ABERERMKE 2 ARBARUIRILY—ZRKE

102.5
102.0
101.5
101.0
100.5
100.0

99.5

2R
3R
4R
5H
6H
7H
8H
9R
108
118
12R
2R
3R
48
5H
6H
78
8H
9R
108
118
12H

2018461 8
2020418 |

(B - 9) [R1-2] HEEMMmEYR (KE) OFFERAL

1.5
1.0
0.5 A
0.0 A
-0.5
-1.0
-1.5

2R
3A
4R
58
6H
7R
8H
9R
108
118
128
28
3A
4R
5H
68
7R
8H
9H
10R
118
128
2R
3R
4R
5H
6H
7R
8H
9H
108
118
128

2018518

20194E1 R4
20204 1A

1/6R=2



2. 10XEBHDIKR

OLUT® ITXR2y . TH2-1] ~ TH2-3] OEBYTHB,

[*&2] ER21E (20154F) = 100
5%!’%%‘4%1@ RIERE At BIA Lt
R T | F5E | F5E | £t | F5E | F5E
[9%] [%0pt] I 152 [%] [%6pt] =i
=) 100. 7 -1.0 -0.1
BH 102. 6 -0.5 -0.12 6 -0.4 -0.12 10
=& 103. 8 -0.2 -0.04 4 -0.1 -0. 01 7
& - KE 99.9 -2.8 -0.19 8 -0.4 -0.03 8
RE - RERAM 97.0 2.4 0.08 ] 0.0 0.00 3
W E U EY 102. 2 -2.5 -0.13 V4 -1.7 -0.09 9
REEE 106. 2 -0.1 0.00 2 0.0 0.00 3
@ BE 97.3 -1.7 -0. 21 9 0.5 0.07 2
B 95.2 -1.5 -0. 05 5 0.0 0.00 3
HEIRE 100. 1 -3.0 -0. 31 10 0.9 0.09
e 93.3 -0.1 -0. 01 3 0.0 0.00 3

(R2-1] 10XEEH WERAL & BAL
mAIERAL BRIAL ik - 06)

BH

=
FE-KE
RE-REAR
HWREVEY
REEE

+2.4

358 B IE
85
HEIEE
e

2/6R—



{EZ_ZI 107(%5/‘:"] §’§-E ('ﬁ“l]ﬂi]ﬁ]ﬁ HS) (iﬁi . %pt)

B
FE
S KE
RE-RERAR +0.08
WRKR UV EY
REER
RE-BE
BE
E2E=3 TS -0.31
(R2-3] 10KEBR HE5E EAt) (B - %pt)
B -0.12
*E -0.01 4
S Eh-KE -0.03

RE-RERR
HREVED
RIBER
RaE-EfE

£ e

0.00
0.9
0.00
_ AL F] +0.07
0.00

LSO +0.09

0.00

3/6R—T




BRI DRI
OUT® K3 .

E3-11 ~ E3-10] MEHYTH S,

[%3] ERR2758E (20154%) = 100
) EAT =] BER mERA L AR
(K 4E - i 4E - N E) UhSEE) Wi | ZEE [ FEE | FEE | FEE
u 7 — — —\U. —
5 3 01,0 = _ = 0l
ERBRRUIRLI—ZRBEEE 01.1 =0, — .
02. 6 —0.5 =0.12 =0. =0.12
Bz S55K. Bhy. ) B L5E 100.2 4.7 -0.09 1.3 0.02
BN 5. GalT. hEBZ 106.3 2.8 -0.05 =3.9 -0. 08
ERAN 101.9 -2.5 -0.03 6.9 -0.08
e TR, B, BA. )t % 103.7 0.9 —0.02 0.1 0.00
FLONEE EZl, 37 M, BE 1002 4.0 —0.05 1.2 =001
GE - B8 RE. TLOY. o/F. BTLS 88.9 =3.0 -0.07 =41 -0.09
ERTE 79.0 -4.3 -0.05 6.9 -0.09
HHK. N 1. RDE= 108.8 5.2 0.04 10. 4 0.08
EHEY 110.7 7.2 0.05 11,1 0.08
RRE - SRR Cso58. #%. BBAT . O0% 98.2 4.7 —0.05 0.4 0.00
% . BARD. MA)-bE 109.3 0.8 0.02 =0.2 =0.0
AL BN, P ohTE 107.2 41 0.13 =0.3 =0.0
RRH. It RS 96.5 0.2 0.00 0.4 =0.0
Bl Bl b, V% 1042 2.3 0.03 1.2 =0.02
TLEF N ((ed) FRIREE 030 02 —0.0 0.0 0.0
03.8 0.2 =0. 0/ =01 =0.0
RE AEZE.BEORBRES 1006 0.3 -0.05 0.0 -0.0
iaimht FIEE K- MERIENSE 20.3 0. 0 01 -0.2 -0.0
99.0 =2. 8 =0.19 -0.4 =0.03
BRK 1009 3.8 —0.13 -0.6 -0.02
Emh A7 AN U8 A 96.5 2.6 —0.04 =0.7 =001
T8 96.3 —12.2 —0.02 2.4 0.00
AEH. TKER 1019 0.0 0,00 0.0 000
: A 97.0 2. 0.0 0.0 0. 00|
ES N EE I N SRV 93.7 8.1 0.09 0.2 0.00
ERERES BHBE 1A b I E 99.6 1.6 0.00 1.4 0.00
BEE NyF M, B e & 81.4 —12.0 -0.03 =23 =001
EEX I 03B, 751 V. 51V 1007 2.8 0.02 0.5 0.00
%%Fﬁ,ﬁﬁa‘i MUy -1V = FerR P RS 101.6 0.4 0.00 0.0 0.00
REROH ZLBERRE 102.6 0.0 000 0.0 000
02.2 =2.5 =0.19 =1.7 =0.0
101.5 0.6 0. 01 2.1 0. 05
RARED. WA 101.9 0.0 0.00 0.0 0.00
BEFAX & v BARIIRE 101.5 0.7 -0.01 2.2 -0.05
109.3 1.1 0. 02 1.4 =0.02
BFRAM ) B ARTAYE 105.8 5.1 0. 06 2.2 -0.03
BYR R RABTERS 119.2 10.6 0. 04 0.9 0.00
R NN R 101.0 5 ] 004 1.3 =001
. B R F. mARYIAE 79.3 —16.0 —0.05 1.5 0.00
SRR EOEER BRE G 1031 0.0 0,00 0.0 000
- 106.2 =0.1 0.00 0.0 0. 00|
BENEE N VIEE 101.2 0.6 001 =01 0.00
mnﬂn =} BAL D R AR 110.5 1.5 0.0 0.2 0.00
;@ﬁ— EX ZER B IEZDEE 1071 0.6 —0_01 0.0 000
-1 97.3 1.7 =0.2 0.5 0.07
E3t BEEE. MEEE. AHEBRNE 102.0 0.8 001 0. 0.00
E3EE0ER BDE5 V). ODERRES 101.5 3.6 —0.23 1 007
A INEBEHNETEE EEEEHSE 90. 8 0.7/ 0.03 0.0 0.00
%EE 95.2 1.5 =0. 05 0.0 0. 00|
BEEESEES PIASE. AFBEN YREREHS 90. 4 -3.2 -0.07 0.0 0.00
SERETE BilE FESEBH 1029 0.9 0.00 0.0 0.00
B B HWEHE (VR P2 SR FHK) 104. 1 1.5 0.02 0.0 0.00
00. =3.0 =0.9 0.9 0.09
ZE IS FE RN A BT TLE N VIS E T/ E 97.1 2.2 0.0 —0.6 0.00
[ ZEEEAS VLS DL E R KDk 100.8 1.1 —0.02 1.5 -0.03
£ - OHRIY T M. 22 108.4 50 0.06 45 0.05
%}E@ﬁ—tx L NGE N ua B E 98 6 58 —0.35 14 0.08
B 93. =0. 1 =0.0 0 0. 00|
HERT—EX BEHN.N MR RS 106.2 1. 0.0 0.0 0.00
[ XS Hm B7 5V, 107 - ALsE))-bE 98.3 0.0 0.00 0.7 =0.0
EEPIED);E Ny . R 104.0 =5 ] —0.06 1.2 0.0
T EC FEC EER @A) 1244 9.6 0.04 0.0 0.00
= &R 7 02 000 00 000
*qukOL\'cw;iffﬂili #® i’%«éffﬁnﬂ% M2016F £ HEEYMEROMBR] . 0IFEEFEEYMERREE

H—E1 2IEBEESWD, K-

LR—TF7 KL R https://www. stat. go. jp/data/cpi/2015/kaisetsu/index. html

4/6 R—




a. PRENFSE

b. RHARMNFEE

BIERAL) w0 BAL) (g opn
[X3-1-a] [X3-1-b]
BH y-f =
(Bi4ERE A th) (BT A ) . .
him -0.09 ——— HEE =3 +0.02
faNE -0.06 /—— AN -0.08 C———=—
A48 -0.02 = PI%E 0.00
Z.On%E -0.05 =—= LN ] -0.01 =
B E-EE -0.07 —/—— Bx-E5E00 vy
— +0.04 LX) e R )
JHRE - SRR -0.05 =—= SHRE - SRR 0.00
EF5E = +0.02 =S ] -0.01 =
SEE R =10 13 FEER -0.01 =
/&) 0.00 e -0.01 =
G = +0.03 ELE -0.02 ==
SNE -0.01 5 Ne 0.00
[[23-2-a] [K3-2-b]
®E ®E
(AR A k) (RTA L)
RE -0.05 | RE -0.01 |
BB 1 __]+0.01 BB i -0.01 |
[X]3-3-a) [X3-3-b]
L8 - KiE S8 - KE
(HIEE A L) (ATA )
BRAK 013 [ EER -0.02 [
AR -0.04 /T HRR -0.01 LT
oS ER -0.02 @ oS ER 0.00
L TFKER 0.00 L TFKER 0.00
[X]3-4-a] [X3-4-b]
FE - REAR RE - RERM
(HIEEA ) (RTALL)
FERWAS : 30.09 FERWAS ' ' 0.00
ERERR 0.00 ERERR 0.00
EEHE -0.03 /= EEE —0.01 T
REHE —= +0.02 REME 0.00
RERHER 0.00 REFHER 0./00
REY—ER 0.00 REHY—ERX 0.00
[3-5-a] [3-5-b]
BREUEY BREUVEY
(BIZERE A k) (RTA L)
~E I I —0.I 01 == ~¥ —0.|05 [ : I
Y t—8—TEH -0.02 === v t—8— TEH -0.02 ===z
EWE -0.04 = BiE -0.01 ==
D AREE -0.05 o #EAREE 0.00
WREEY—EX 0.00 HWIREEY—EX 0.00

5/6R—



a. PREMNFSE

b. HRHMNFEE

(BIEEAL) =) (RTAL) W=
[X13-6-a] [3-6-b]
REEE REER
(RIERA L) (ATA k)
EEL-EEAERERS -0.01 | EEL - EBREFAERS 0.00
REEERAR-FJE ]+0. 01 REEERAR-FE 0.00
BRERY—ER -0.01 [ FREERY—ER 0.00
[X3-7-a] [R3-7-b]
3558 - EIE %8 - WmiE
(RIERA L) (ATA k)
@ -0.01 [ RE 0.00
HEgpEZERE -2 [ HEIEEERE ] +0. 07
®iE ] +0.03 BiE 0.00
[X]3-8-a) [=3-8-b]
BE BE
(AR A L) (RTALL)
BEHE-0.07 BRERSE 0.00
BEE-2ESELHM 0.00 BHEE-Z2ESELM 0.00
wEYE ] +0.02 wmEHE 0.00
[X3-9-a) [=3-9-b]
€ O E3 & - AR
(B4R A L) (RTALL)
HERE R AR 1 +0.01 BE IR 2 A AR 0.00
BEBEAR -0.02 C HBERERM -0.03 =
EE- ORI /30. 06 EE - thDENRIY Frrro] +0.05
HEPEY—ER -0.35 [ BEEES—ER o +0. 08
[X]3-10-a] [X3-10-b]
(RIZERA L) (RTA tk)
BERG—ER ' = 001 mEmY—£2 00
BHEXSAR 0. 00 BERALS 0.0
SOEYAR -0.06 0 SDEYAR =771 +0.01
=1EZ . 04 =IEZ 0.00
D EHE 0.00 DS 0.00

6/6R—



